
AKSESUAR LİSTESİ-ACCESSORIES LIST

MONTAJ ADIMLARI

ASSEMBLY INSTRUCTIONS

ACCESSORIE NO

4 ADET

PRODUCT

ÜRÜN
YOKA SALLANIR SANDALYE

ROCKING CHAIR

ACCESSORIE NO

4 ADET

ACCESSORIE NO
M8*80 ALYAN VİDA

1 ADET

ALYAN ANAHTARM8*60 ALYAN VİDA M8 PUL
ACCESSORIE NO : 321

2 ADET



MONTAJ ADIMLARI

ASSEMBLY INSTRUCTIONS

M8X80

M8X80

M8X60

1 2

*Please follow the instruction step by
step to complete mounting your

PAFU rocking chair.

Step 1: Fasten
the bolts

Step 4 :
 Fasten

the bolts

Step 5 :
 Fasten

the bolts

Step 2 :
 Fasten

the bolts

Step 3 :
 Fasten

the bolts


	Sheets and Views
	Model

	Sheets and Views
	Model


